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1. Fresh sewage is in nature
a) Alkaline b) Neutral
¢) Acidic d) None of the above
RAENFEOTD Fem asdonn Sljlet i~
a) Bdead b) mg
€) LD d) eds cngyde oY
2. The biological decomposition of organic wastes under controlled conditions is
known as
a) Composting
b) Sanitary landfills
¢) Incineration

d) None of the above
Sobhods Ao Hod e o arduaobdg‘ o sdeeRrgd 9

a) augriang

b) F=bry, Jonger

C) wiyescs

d) o0 cinguie vy

3. Chernobyl nuciear disaster occurred in the year

a) 1985 b) 1887
c) 1986 d) 1968
URarer Tostne @des otns S G Rornad 9
a) 1985 b) 1987
c) 1986 d) 1988
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4. Enrichment of nutrients in a water body leads to
a) Eutrophication
b) Biotransformation
¢) Biomagnification
d) None of the above
Q60T BONYYS Spezoosnd @aﬁdw@ o:tna;i;dg 2 BRRERTIT ?
a) Toe PosZ3
b) 2§38 dewnosd
c) BIEIFFS
d) $oed3 IRPTe By,

5. The maximum permissible limit of nitrates in drinking water is

a) 45 mg/! b) 79 mg/
c) 100 mg/ d) 250 mg/l
DB DS, i ' o BT0s 208 2 7

a) 45mg/l b) 79 mg/l
c) 100 mg/l d) 250 mg/l

6. Environment Protection Act was enacted in the year

a) 1974 b) 1998
c) 1986 d) 1982
TORC T ToTo CRES SRFEY 20r ITLREW ?
a) 1974 b) 1998
c) 1986 d) 1982
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7. pH value of potable water is

SN - 712

a) 3and5 b) 10.5and 12,6
c) 6.5and8.8 d) 1.5and2.0
Fpesdews” Deo pH IRnes DATZT ?

a) 33N5 b) 10.52)12.6
c) 653,88 d) 1.5 a=52.0

8. The chemical name for alum is
a) Aluminium chloride
b) Silver nitrate
¢) Aluminium sulphate
d) Copper sulphate
Beat S o otng B3
a) sug oo dgrgE
b) Ae0 Fedets
¢) LugRabe Fesisr
d) zTo* #cggw'

9. Consumptive, productive, social aesthetic and option values refer to
a) Tropic structure
b) Ecosystem stability
¢) Biodiversity
d) Dynamic equilibrium
el RS, s ugs BV b a&i%%mb ram;tmmgs
a) w%wm'bd B3
b) @oxs qwgocm vo2
c) mi)dﬁqg
d) wm#%s
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10. Due to incomplete combustion of fuels from petrol engines, the gas liberated is

1.

a) Carbon dioxide

b) Carbon monoxide

c¢) Nitrogen dioxide

d) Sulphur dioxide

Tl eer QoEaivos Kopsng uogpnr BEIDOIN CIRNE &Y wandoinrgs ?
a) vonos d o a*

b) wwry* Semed =

C) MInIEC B o8 @

d) sop* & «d =

Some toxic compounds are ingested and retained in the tissues. These pollutants
pose special risks to humans and other organisms high on the food chain because
of which process ?

a) Synergism

b) Compound contamination

¢) Biomagnification

d) Carcinogenesis

Ry TR0 #oomgn‘dag BomoINYY ReoRoerogd =) NVRBRY BT, B
mnmms@mmm mmmwmm
SRS, T3 odon) Ddend ¥dodenrogs ?

a) adero

b) oot =ndg

CERE

d) mardeaiug
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12.

13.

14.

The disease caused by drinking contamination

a) Scurvy b) Typhoid

c) Malaria d) Anemia

28 208 ReSIcTotRrs Bod

a) ZoF b) gamoa,

c) HSedodn d) o§kesd
Sewage sickness is a form of

a) Water pollution b) Air pollution
c) Land pollution d) Light pollution
0o Bour [TE Kowoad

a) wo Sndg b) oot IO
c) we =ndg d) b =Ry

Sodium is usually estimated by which of the following analytical technique ?
a) Flame Photometry

b) Coulometry

c¢) High pressure liquid

d) Chromatography

Antdodo WIRF TN SN IR EERTE ARFOE Lo RIS ?

a) @, Job Fperdnrdnd

b) Sacdandy

c) 203 u3dd g

d) Seerees,
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15. Poorly nourished lakes are known as
a) Oligotrophic
b) Eutrophic
c) Mesotrophic
d) Xerographic
393 pesirdon ST DRom sScenriZs ?
a) mEJpexE v sasoaits
b) coxtinede
c) awineinels”
d) Honirmmgs

16. Highest level of biotic interaction is
a) Mutualism b) Predation
¢) Parasitism d) Amensalism
B YRneaw ¥ TORT §odow) HFend Bdobeandd ?
a) TOROE, b) Swormdeeds
¢) TS d) ebadmo

17. Group of individuals of the same species that share common attributes is called
a) Community b) Population
c) Ecotype d) Society
TR rOUERNTR) Bouaw)F wott mdab FEnd roozia Hdomh sdanuertdd ?
a) someodd b) =axioss,
¢) Enedsr d) Z=ns
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18. Acid rain is caused by

19.

a) COand CO,

c) SO, and NO,

ehabe cinyToos sucknr3s 7
a) CO &= CO,

¢) SO, &% NO,

Marine pollution of the ocean is due to
a) Oil spills

b) Washing of cargo ships

c¢) Disposal of hazardous waste

d) Allthe above

wnos woRROR I

a) o Eomgeler

b) mrier Z@Eriony ngoinddcloed

C) TRATTE T, BNV FcuPToT
d) b8 2up

b) SO, and O,
d) N02 and 02

b) SO, 2% 0,
d) NO, %0,

20. The chemical that is used to ripen mangoes is

a) Calcium sulphide
¢) Calcium carbonate

b) Cailcium carbide
d) Calcium chloride

R0 Bt HREL0 WIREAHS TRRCHRE IR ?

a) ROy =
¢) = oomororiner e’

b) quowq,m
d) MmOsbo Epedae

SN - 712
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21,

24,

Biotic environment includes

a) Producers b) Consumers

c) Decomposers d) Allthe above
8 ToxT CIRFTEI wertecRE ?

a) YUsIE b) @

c) dylwscd d) Soeds duzh
Chicken gunya is transmitted by

a) Culex b) Aedes

c) Anopheles d) Housefly

"R ROF 2R0Y cIRFYToes BOEID ?

a) 8 U b) ~ax*

C) SNQOR* d) e

In our country, Vana Mahotsav Day is observed on

a) Second of October b) First of December
¢) Tenth of August d) First of July

S BeBnd SIIDBReS OTUETRILR) Dot $1oRoRT ?

a) SoESe ennct b) womde adoro

¢) ®3de wrint, d) womde wog)
Which one of the following is not a primary contributor to the green house effect ?
a) Carbon dioxide b) Carbon monoxide
¢) Chlorofluorocarbons d) Nitrous oxide

8 SINTYNYY cInHHd B 3o zfowd:g TRPRE €A ARJHOY ?
a) Bowus @ wd o' b) wowra* S, o
c) ERsdnegpnemuwrs d) Jux* ol =
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25. Medicine of quinine is provided by

a) Eucalyptus plant b) Aconite plant
¢) Cinchona plant d) Money plant
33 Mom@dm TEcLRNZE ?
a) [eONd b) asrae;%w T
¢) Acdnem TRoWF d) o9 mpoe
26. 71% of earth surface is covered with
a) Land b) Air
c) Water d) Coal
gadoan Hoeg 0 7105, wnt CIRPYTOOT BABTIZT 7
a) P b) me
c) e d) o5
27. Which?oombination of the following elements constitutes a major portion of earth
crust
a) Oxygen and Silicon b) Oxygen and Iron
c¢) Silicon and Iron d) Aluminium and Iron
BONS oSS L2083 aiood Focdressod BR0THEOT 1ot Fehoed Rnend ?
a) EROxIE DB AORT b) e wsh fupe
€) A0ma’ T #dpe d) Lol S B
28. The least preferred technique in the disposal of municipal solid waste is
a) Incineration b) Composting
c) Landfilling d) Bricketting
FoRIoDd P WK T LEEROCHY TF wT 3o L
a) PysEc b) &ogriens
c) g g d) wdkion®
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29. Minamata episode was caused by which heavy metal ?

a) Calcium b) Mercury

¢) Lead d) Arsenic

D0SRRE PUSCLD B4 DEETE I TorD

a) mooe b) TwoR

c) AR d) «XFae”
30. The First Environmental Law in India was enacted in

a) 1947 b) 1950

c) 1972 d) 1982

RO30 ety Joxo mmq IR SwF 120 oo ?

a) 1947 b) 1950

c) 1972 d) 1982

31. Adevice fitted to the exhaust system petrol driven motor vehicle to reduce emissions
of pollutants is called as

a) Conversion System b) Conversion Kit
c) Catalytic Converter d) Catalytic Box

w0 Badamogala das Snt SR ART Dmer 103 SRt
TR VST MR £ fabeerEa ?

a) WOSIFIJTY, b) ZoSBrI WS
c) SenIgre Jo=srE d) SenSgrg e’
32. The maximum permissible level of BOD (mg/l) in waste water that is let into river is
a) 20 b) 30
c) 40 d) 10
Sor s 3%, 2:o39hE BOD (mg/l)o® riosy eroes S0,
a) 20 b) 30
c) 40 d) 10
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33. Which one of the following sequence represents increasing order of toxicity of metals ?
a) Ca, Zn, Cd, Mn b) Ca, Mn, Zn, Cd
| ¢) Zn, Mn, Cd, Ca d) Mn, Cd, Zn, Ca
, & 3NSYrive o Ferdonn deEnd S TR LootdTRET :ﬁgﬂ#&z DOE T
RRu3s ?
a) Ca, Zn, Cd, Mn b) Ca, Mn, Zn, Cd
¢) Zn,Mn, Cd, Ca d) Mn,Cd, Zn,Ca
34. The term environment refers to
a) Total set of circumstances b) Hydrosphere
c) Atmosphere d) Biosphere
m.nou&‘)g
a) we #Q‘:Ses b) motesd
c) Toee d) SeSnies
35. Climate change issue is due to increase of gas in the atmosphere.
a) Oxygen b) Ozone c) CO d) CO,
BHIRT LESOTE BT, 0L HIITEY IS BRUE B0 tucknrZs ?
a) ey b) L.dyeea*
C) BuFY* Semod = d) wre g o8 o
36. Biomass energy refers to
a) Renewable
b) Non renewable

¢) Renewable and alternative
d) Renewable, alternative and ecofriendly

LoIRERT HI BewRegd ?
a) FnEoTuabmes

b) Snedoenns
¢) SRetsuEd T wh) HatnFod

d) SReozhuRms, Tatnrodb S ToRd Ak
SPACE FOR ROUGH WORK
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37. Sacred grooves are of
a) Agricultural importance
b) Religious importance
¢) Economic importance
d) Industrial importance
T, Sord T FeedT ?
a) ga 03
b) Taors m=0D3
c) ©oFs zgdaoa)‘s
d) grmom mE0E

38. Fluoride is harmful at concentration exceeding mg/l in water.
a) 0.9 b) 1.5 c) 05 d) 0.4
Re0HRINS T Zodd RS, AT TAD TIReD
a) 0.9 b) 1.5 c) 05 d) 04

39. Algal blooms appear in water due to
a) High pesticides
b) Nutrient enrichment
¢) More silt
d) Industrial effluent
20039 Trich BRHh BTYer BT
a) Iy $euRITBNL
b) sPaF Pareoe
o) Bggiac,
d) §reom B o

SPACE FOR ROUGH WORK
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40. GMOsare
a) Genetically Modified Organisms
b) Genetically Mediated Organisms
¢) Genetic Model Organisms
d) Genetically ModelOrganisms
GMOs 2008
a) Genetically ModifiedOrganisms
. b) Genetically Mediated Organisms
¢) Genetic Model Organisms
d) Genetically ModelOrganisms

41, is not responsible for ozone depletion,
a) Chlorofiuorocarbons
b) Lead
¢) Fluorine
d) Chlorine
Ltyeen R3Eor wmh oSy,
a) dprdnrgadarmurs’
b) xR
c) TROY
d) 43¢0
42, zone,isthe deep water zone containing only heterotrophs.
| a) Profoundal by Littoral
. c) Sub littoral zone d) None of the above
SRS Fooh ey m«agmmmm ovmn De0F Swohand 9
a) oz b) s@wed
¢) o Suppy’ Jwod d) oeds cnPuie vy,
SPACE FOR ROUGH WORK




SN - 712 -16- (IS0

43. The space between the soil particles and soil organisms is called
a) Pore space
b) Pore size
c) Particles
d) None of the above
axga’ Brarieh 0% z:brgg Rene RN %#a‘z:‘..l DSomd TECDSRMZT ?
a) dog@wen
b) degzE g
c) geartsd
d) Seds clnPue e,

44, The instrument used to measure relative humidity is
a) Hygrometer
b) Hydrometer
c) Barometer
d) Thermometer
ARBeE, BT 3R Pl WIS WS
a) Frigeoeo
b) Sdmedoeect
c) q%e&mw
d) FEneraetior

45. Black soils are black in color owing to a high content of

a) Humus b) Sodium
c) Potassium d) Copper
gag) Foraonieh 9N B woTnd FI0omN ¥ B OTIE
a) TR b) Rre@cio
c) Sptrodo d) 3

SPACE FOR ROUGH WORK
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46. Which one of the following does not produce SO, in indoor environment ?
a) Fossil wood
b) Fire proofing using asbestos
c) Cooking, smoking, vacuuming
d) Kerosene space heaters
S BINSYNVY, CIRYTD ot werorts TORTRE, SO, e wuokd IRAF0e, ?
a) Tetoed o
b) Zemgh Wi todcid) sustEdd
¢) en, Geshans So% dmFotd

d) e ol Getio”
47. The Stockholm Conference of United Nations was held in the year
a) 1968 b) 1969
c) 1971 d) 1972
cloF i Sesiat, Anprrdont KpedsSt cind SHr g, Sdiovcidd ?
a) 1968 b) 1969
c) 1971 d) 1972

b

48. Which gas is mainly responsible for the Green House effect ?

a) Ozone b) Oxygen
3 ¢) Co, d) co
Sachatd womoatd S Ton R BOmRmING ?
a) wiew b) e
¢) Rur g g o d) mwrar Sl @
SPACE FOR ROUGH WORK
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49. Symbiosis is expressed by

51.

a) Soail

c¢) Lichens

BE2eRID) ARNID AT
a) ssn%

c) s

. Largest ecosystems of the world are

a) Grassland

c) Forests

Todss ©8 BB TOXT aﬁdz;
a) LR

C) w0,

Acid rains is any rain with pH
a) Below5.6
c) Below8.0

b) Fungi
d) Virus

b) 3deomned
d) Sox*

b) Great lakes
d) Oceans

b) BR% Tdne=ons
d) mno

b) Above 5.6 and below 6.9
d) Below 7.0

odnacse Sovodm ‘wm) Bod ' wowd Foded pHE SR,

a) <56
c) <8.0

52. The author of Silent Spring

a) Jeffrey Archer

c) E.P.Odum

"R our Abon'"s Se2de
a) o33 uFo*

c) @ & W

b) >5.6 =>2<6.9
d) <7.0

b) Rachel Carson
d) Sydney Sheldon

b) ootde® RFT*
9 A8

SPACE FOR ROUGH WORK
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53. The thickness of the ozone layer is measured using unit of

a) Newton b) Joule
c) Dobson d) Decibel
Lo HE0E THREE) clnE SRTNEI WS edabeRnZn 7
a) Spua b) P
C) mowy* d) dxer
54. Which one of the following is a non persistent pesticide ?
a) Chilordane b) Dieldrin
¢) Malathion d) Aldrin
81 SNSYNYY cIRJTD t.otH ATRBTSLT SeLimods ?
a) ERgoea’ b) 89"
C) SRUF IR’ d) uga'
55. Chipko Movement was held in
a) Uttar Pradesh b) Assam
c) Kamataka d) Kerala
“ua e WS oY SEolRd ?
a) 3o TS b) &m0
c) gworis d) decd
56. London Smog occurred in the year
a) 1952 b) 1986
c) 1962 d) 1972
Vo’ Bednd, Een SHow cIRTIN ot 9
a) 1952 b) 1986
c) 1962 d) 1972

SPACE FOR ROUGH WORK
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57.

Chlorine added to water acts as a

a) Disinfectant

b) Absorbent

c¢) Coagulant

d) None of the above

Neor 8o’ ed;‘mo&mﬂ DT ?
a) Aot Aeood

b) et

c) ook

d) 303 cdnae B,

58. The United Nations Conference on human environment was organized at

59.

a) Rio de Janiero b) Paris

c¢) Stockholm d) New Delhi
Fnss TOR0T B0 oG Ein’ quv Rt 09, BodReriRTNG ?
a) dodre @ wFdRe b) m,on’

c) ApprEnesy d) S3c=D

gives an empirical value to water quality and is a parameter for the

organic matter present in water.

a) BOD b) COD
c¢) DO d) Hardness

Qe0S rorsdig mycdeend @%mam o) VeI, RoH Tegr TS Lot
=

a) BOD b) COD
¢) DO d) s

SPACE FOR ROUGH WORK
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60. Ozoneisa
a) Primary pollutant b) Secondary pollutant
¢) Hydrocarbon d) PAN

LRt J=0R

a) TP IROFTTENWD b) aim;g&m' :ind)@sado’r{d:
¢) ZEpmwr’ d) PAN

61. High volume air sampler is used to monitor
a) CO b) CO,
c) SPM d) Hydrocarbon
:bcqgwadﬁ InBe oins su;s Jomaa dndoﬂd:q weReRNZE 7
a) nwry damé o b) mra'q,e%w
C) a7 .00 d) Z@gmura’

62. Which of the following is an endemic species found in Western Ghats ?

a) Marsh Mongoose b) Indian Rhinoceros
¢) Brown Palmcivet d) Flying Squirrel
QRYNVY, cIRTYTH TR PUNYO, Foroeaths :gpecda DEIRNG ?

a) S F SRonesT b) yRTsecd a)a:;\d%ﬂ
C) ot TR DeLs’ d) 0T ePw

63. The mean temperature of the earth is approximately

a) 10°C b) 15°C
c) 20°C d) 29°C
a0k BoIRd STBRIF) KO RoSRdd

a) 10°C b) 15°C
c) 20°C d) 29°C

SPACE FOR ROUGH WORK
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a) Nitrogen
¢) Oxygen
PV, cIRTYd BT LU ?
a) ouIE

c) eabne

65. Which of the following is not a fossil fuel ?

a) Coal
c) Petrol

SNSRIV canhc Fctord Bocasy ?

a) $9gw
c) SJudgee”

. The coldest region of the atmosphere is
a) Troposphere

c) Mesosphere

BT 3 deF IeY

a) dpTpercio

c) W&pﬁc‘

. Environmental planning organization is
a) ICAR

¢) NCO

TRt odnezsdons Hogsess

a) ICAR

c) NCO

64. Which of the following is a green house gas ?

b) Methane
d) Sulphur dioxide

b) 2weFge"
o) Rep o ed

b) Wood
d) LPG

b) =0
d) Qutf.a

b) Stratosphere
d) Thermosphere

b) sRclnsoEy

d) I=neraco’

-

b) NEERI
d) NPO

b) NEERI
d) NPO

SPACE FOR ROUGH WORK
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68. The SilentValley is a
a) Place in Himachal Pradesh
b) Densely forested valley in Palghat district of North Kerala
c¢) Valley in Garhwali Himalayan region
d) Valley in Shivalik range
"BPowr WY ANJD
a) LERiy DUas oS %@
b) 3T #eovE Il Bdod SumT Tr v
c) NTmY LEReoba* ol #rds
d) dndrr 3,00 Fedd

69. Richter scale is used to measure

a) Velocity of light b) Intensity of sound
¢) Amplitude of seismic waves d) Wind velocity
080" RIS 08 WIRGTLZS 7

a) wvss Send b) ZQ S

¢) Prtcmng oone Fooe, d) me 3en

70. A common disinfectant used in village wells is
a) Ozone gas
b) Potassium permanganate
¢) lodine and bromine
d) Free chlorine
BQODY ANV wIeRrLE R Arectd VHUE
a) LR 2o
b) Fptmdede TronSets
¢) eolredn’ S 3r e
d) ¢ 805"

SPACE FOR ROUGH WORK




